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Abstract

The main purpose of this indeperdent giudy is to
characterize a function f that preserves harmonicity in the

m—dimensional euclidean space. The main resulis are as follow:

¢ ¢ 0 and £ & C(R™,R®) with

1]

1. Let ¥ € ¢(0) with ¢

f = (f,l,...,fn). Assume that the couple (¥,f) satisfies the

condition 'hha.t
(1)ess Por all h e H(g' ) we have yx (hof) € H(a).

Then if £ is bounded, the map f must be congtant.

2, Let 9 and ¢ be two domain in R® and R® regpectively.
Let ¢ € C(e) with ¥=mc $+O0amd f€ cz(in,gn') with f = (f1,...,fn).

Assume that the couple (y,f) satisfies the condition (1) and



for each j € {14eeeyn} We have ije {14eeeym). such that

fj(x‘i’...'xrﬂ) = aoj+ a.,‘j ij'l'-oo"' apjxlj?j.
Then fj(x.l'.oo,xm) = a0j+ dxij where d = 811= 8.12=ooo"-' a.,m. 7



